50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.
Note: Answer any FIVE full questions, choosgﬁg“‘ one full question from each module.
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Fifth Semester B.E. Degree Exammatlo Dec.2018/Jan.2019
Signals and Sys"téms

Max. Marks: 80

Modu?éeﬂ

W,

Distinguish between > 4
1) Continuous and Discrete tl% 1gnals
i1) Even and Odd signals i
iii) Periodic and Non-perio mm%'fgnals
iv) Deterministic and Rahdom signals
v) Energy and Power signals. N (10 Marks)
Determine and sketch he'eyen and odd parts of the S,lgnal shown in Fig Q1(b)

(06 Marks)

(08 Marks)

oy M%dule-z .
Determine the convolut1on sum of two sequences  ~

4 3{;»2’ 1, 2} and h[n] \xw B : "; 5 (08 Marks)

(08 Marks)

Find the output response of the system described by a differential equation

2
dd}t,(t) édy (1) +8y(t) = dx (t) —+ 2x(t) The input signal x(t) = ¢ u(t) and initial conditions

(06 Marks)

Y(twm Y(t)+2 y(t) = dzx(t) L &0 (06 Marks)

i dt dt? dt

Check whether the response of LTI system y[n]=2x[n+1]+3x[n]+ x[n-1]is causal and
(04 Marks)

10of2
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Module-3
5 a. State and prove the following properties in contmﬁ%us ‘fﬁ ime Fourier transform i) Linearity
ii) Time shift iii) Time differentiation. (10 Marks)
b. Find the Fourier Transformation of x(t) = e™ u@ % > 0. (06 Marks)
OR gt
6 a. Using partial fractlon expansion and lmeamy to determine the 1nveWFourler transform of
x(jo) = —jo . - ¢ (08 Marks)
(jo)? +3jo+2 S
b. Find the frequency response, and unpulse response Q@@Mhe system described by the
differential equation. e Iy R
2 . ¥
dy(® +3dY(t) 2 (t)%;z“éﬂ x(t) L (08 Marks)
dt? dt . dt AN
€\ Module-4°
7 a. State and prové‘ gsg@ followmg properties in D«}ﬁﬁrete time Fourier transform
1) Frequenc? shift  ii) Parseval’s theoremj (10 Marks)
b FTeof the following 51gnal

(06 Marks)

w:::st» OR W {
8 a. Using DTFT, find the gg;al solution to the dlfference equatlon for dlscrete time n > 0.
Sy(n + 2) 6y(n + 1) +y(h) = (0 8)" u(n) (08 Marks)
n with the following impulse

(08 Marks) -
4" Module-5 &
9 a Wha@%;xeglon of converg%e? List any 5 propg;tles of ROC. (07 Marks)
b. Flnd the z-transform andROC of the mgng% X[n]=-b"u[-n-1] (05 Marks)
C.. tﬁte and prove tlme s]:gff@property W%‘W (04 Marks)
g z@,ﬁmﬁ OR
10 a. Determine the%%ﬁ%erse z-transform of x(z)
1 1
x(z ———«-——§————forROC >1; —< <1. 06 Mark
@ =11 +052 (E] |z] (06 Marks)

y(n)——y(n 1)+1ym.—52) x(n)

1) Find 1ts system ﬁmctlon i1) Find its impulse response h[n]. (10 Marks)
% ok % ok ok
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